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8% + Tx + 6x + 6x + 6x7 Ox — 4x* — 33x— 3x2) +7x2
6x + 2x — 5x — 2x° + 9x? 3(2x + 7x) — 3x — 8% — 4x?
2(4x3 — 3x3) +8—x — 8° Ox? + 6x° +x— Ta> +7x°
ox> + 9x° + 4(3)62 — 6x2) + 7 8x— 5x° + 2(7)(2 — Ox) + X
20 + 2+ 66 — 9x° + Sx? 4(8x% — 6x7) + x> + 9 + 2x
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8> + Tx + 6x + 6x + 6x2
8x° + & + 19x

6x + 2x — 5x — 200 + 9x?
2% + O + 3x

2(4x — 3x° )+ 8x — © — 82
X — 82 +8x

0 + 9x” +4(3x° — 6x7) + Tx°
25%° — 12x°

2 + 2x+ 6% — 9 + 5x2
7 + 112 + 2x

[

UN:

9x — 4x® — 3(3x — 3x%) + T’
12x7

3(2x+ 7x)—3x— 8% — 42
—12x2 + 24x

02+ 653 +x— T+ 7x3
133 + 22 + x

8x — 5x° + 2(7x% — 9x) + x2
—5x> + 154 — 10x

A8 — 6x%) + 10 + 9 + 2x
106> + 82 + 2x
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